0-219 O0o000e80DOO0DOODO((MO250090)
o
Dc(%) D
1 F-| -
oS || " Desond
19.5mm = =& Dc=100%(
0.3mm 190%
67.4% 14.6% L
10cm 20cm
19.5mm
1Ec A-a 2 " " & "
1.092 g/cm3 0.001 0.01 0.1 1 10 100
(mm)
50.7% 1
Dc 90 95 100
1.120
50 100 150 300 600kPa o0
0.05%/ o
“g
5, 1000
0.960
3 Dc 0.920
Dc=90% Dc=95% 0880
0.840 L L L L L L
35 40 45 50 55 60 65 70
Dc=100% (%)
2
4 5
800
( 50kPa 100kPa S De=00% , S0KPa
) ( 600 I\ Dc=95% , 50kPa
100kPa  600kPa) Dec=90% g - 2 \-- - i Des100%.  S0kPa
Dc=100% © 400 BVAVEEE G *'****_*_:::** Dc=90% , 100kPa
° b4 300,;/ﬁ',,,,,,,,,,,,,,,,,,,,,,,,,,::
c 7 - *De=95%, 100kPa
‘ 20 F lf 7777777777777777777 = = Dc=100% 100kP:
Dc=100% ” f ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, -
ot L L L :
0 2 4 6 8 10 12 14
€4(%)
3 50 100kPa
SEM
153-8505 4-6-1 TEL 03-5242-6421

-437-



0-219 OoooDbesODOOOOD(@O25090)

——  50kPa_ — 50kPa_
2000 100kPa_ 2000 f— | goups_
== 600kPa_ = 300kPa_
- - (50 100kPa) - ——— 600kPa_
1500 e 1500 F
$=36.7° C,=8.6kPa - -— (50 100kPa)
7
< - _- 7 = 47224°  C=168.9kPa PN
i —— - (100 600kPa) Pl _- i - B
=1 - < - < 1000 === - -
= 000 000" CAwAPa T = (100 600kPa) - -7 -
-
Piairad $=279° C=1373kPa .= .~
-~ - -
> ~ -
Eara -
500 P 500 =
~. Z
///
=
7 3
ZK\ 1 1 1 1 [ 1 1 1
0 0

(=}

0 500 1000 1500 2000 500 1000 1500 2000

c’'(kPa) c’'(kPa)
4 Dc=90 5 Dc=100
(SEM) 6 500
2000 Dc=100 Dc=90
1 SEM Dc=100% Dc=90%

(D Dc=100%

(2)SEM

1) , 55 2009

-438-



